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Rabbit Marathon 2023
Sl M=NT:EF V-NTEERE V=— J|M=-ZLEOL *=%kF
[ 30 /365days 8.22% ] Go for target!
APR 30 days
5 EAIR]&E i) EFEERE| BH| iR RETEE| RETH| ZMEM| ERR| AVE. B|AVE R[EAED| RILED|RIETE| MoTH| B REERE K& | &6
km| days km| days km %) km km km km km| HEHE % h h h
* #E V| 4376| 28 1 437.6 28 3600 12.16%| 15.63| 15.63| 1417 141.7] 5324.1 147.9% 0 0 L FIE| 63
A AV — 3835 29 2 383.5 29 3750 10.23%| 13.22| 13.22 75.3 75.3| 4665.9| 124.4% 0 0 1EZ fB | 63]
3|k V5357 3350 23 3 335.0 23 3500 9.57%| 14.57| 1457 47.3 47.3| 4075.8| 116.5% 0 0 eI ZEhf | 59)
4| EIRE |gEOL 2930 28 4 293.0 28 3600 8.14%| 10.46| 10.46 —2.9 —-2.9] 3564.8 99.0% 0 0 LiR B4 | 52
5|HY IR V|msE 2702 20 5 270.2 20 2400 11.26%) 13.51| 13.51 72.9 72.9| 3287.4| 1370%| 23| 23| 240|¥MEF HFE| 30|
6|#5AE |gmoL 2620 14 6 262.0 14 3360 7.80%| 18.71| 18.71| —14.2 -14.2| 3187.7 94.9% 0 0 $HK #7) | 50
1|HE EV=a 257.4| 28 7 2574 28 3000 858% 9.19] 9.19| 108 10.8] 3131.7| 1044%| 39| 39| 365|FEZE M| 60|
8| ith Vimm 2514 21 8| 251.4] 21 4000 6.29%) 11.97| 11.97| -77.4| -77.4| 3058.7 765%| 22| 22| 400/t (S 41
9| # [gEoL 2510 30 9 251.0 30 4400 5.70% 8.37 8.37| —110.6] -110.6] 3053.8 69.4%| 42| 42| 650|MF H$ | 46
0|X #BV|akrs 2426| 23 10 2426 23 2500 9.70%| 10.55| 10.55 37.1 37.1] 2951.6] 118.1%| 52| 52| 500/ K48 REE | 61|
1HHF AV 2410 20 11 2410 20 3000 8.03%| 1205 12.05 5.6 —-5.6] 2932.2 97.7%| 48] 48 HAR B | 58|
2|8 HV|EsmzEC 2366 26 12 236.6 26 2750 8.60% 9.10 9.10 10.6 10.6| 2878.6] 1047%| 32| 32| 3654k Fll 60
13| HHAR V]S 2346 26 13 2346 26 2400 9.78% 9.02 9.02 37.3 37.3| 2854.3] 118.9% 0 0 FHERES] 57
14| /NRER V| L iR A 2t 2165 24 14 216.5 24 2400 9.02% 9.02 9.02 19.2 19.2| 2634.1 100.8%| 27| 27| 240[/hEk B 60
15|[RFFVImR 176.0] 26 15 176.0 26 1200| 14.67% 6.77 6.77 774 74| 2141.3| 178.4% 0 0 RE =3 | 84
16| HAV|ms 171.8] 17 16 171.8 17 1800 9.54%| 1011 10.11 23.9 23.9] 2090.2 116.1% 0 0 HE % | 50
17|HPIE |gEOL 169.9 17 17 169.9 17 2000 8.50% 9.99 9.99 55 5.5) 2067.1 103.4% 0 0 He FFA[ 56
18|= F% |sEoL 164.4] 20 18| 164.4 20 2040 8.06% 8.22 8.22 -3.3 —-3.3] 2000.2 98.0%| 28] 28 =7 Bhili | 34]
19|28 BV|gxoc#z 154.8| 15 19 154.8 15 1000) 15.48%| 10.32| 10.32 72.6 72.6| 1883.4| 1883%| 17| 17| 100|E S FIFE | 63|
20| SRV ERS 154.0] 25 20 154.0 25 1800 8.56% 6.16 6.16 6.1 6.1] 1873.7| 104.1% 0 0 A M | 63]
20|KX BV|#Esihe 141.4 4 21 141.4 4 2000 7.07%| 35.35| 35.35| -23.0 —23.0| 17204 86.0%| 30| 30| 200/KE f#—| 55
2|# FVm 139.0/ 30 22 139.0/ 30 1800  7.72%| 463] 463] -89 -8.9| 1691.2] o40%| 17| 17| 200|#ME 81T | 51
23| ERE |gEOL 133.6 11 23 133.6 11 1800 7.42%| 12.15| 12.15| -143 -14.3] 1625.5 90.3%| 16| 16 ER &K | 58]
1| AHEV|EHRTS 1303| 17| 2 130.3| 17 1200| 1086%| 7.66| 7.66| 31.7 31.7| 1585.3| 13214] o] o AR fEF | 62
25| /N VDB %L 118.0] 22 25 118.0 22 1800 6.56% 5.36 5.36] —299 —29.9] 14357 79.8% 0 0 NREEFLK|  55)
2| F |gEoL 104.0 9 26 104.0 9 1200 8.67%| 11.56] 11.56 54 54| 1265.3| 105.4%| 12| 12| 150|BEF IEHH| 62|
27|N EBV|EDtL 100.9 16 27 100.9 16 1500 6.73% 6.31 6.31] —224 —22.4| 12276 8185 10| 10| 150/ ¥ 59
2|85ARME [#EOL 100.0{ 30 28| 1000/ 30 720 13.89%| 333 333 408 40.8| 1216.7| 169.0%| 16| 16| 120[#6K fHA | 66
20|IIEH— |gEOoL 99.2| 27 29 99.2 27 1200 8.27% 3.67 3.67 0.6 0.6| 1206.9] 100.6% 0 0 WHE —&| 64
0/l BV|LBEiHR 960 12 30 96.0 12 1000 9.60% 8.00 8.00 138 13.8| 1168.0] 116.8% 0 0 ## f2— | 55|
INFEVI|S = Sy# 920| 10 31 920| 10 1500 6.13%|  9.20] 9.20| -31.3] -31.3| 1119.3 74.6% 0 0 NG B | 65
2|E AV|EE 771 13 32 771 13 900 8.57% 5.93 5.93 3.1 3.1] 938.1 104.2%) 13| 13| 180|fEA fEZ | 63
B[R H |[sEOL 71.0 10 33 71.0 10 1200 5.92% 7.10 7.10] -27.6 -27.6] 863.8 72.0% 12 12 A EHE| 67|
u|= B |sEoL 69.9 7 34 69.9 7 1000 6.99% 9.99 9.99| -123 -12.3| 8505 85.0% 0 0 =5 &S| 44]
s HV|EXocHE: 684 17 35 68.4 17 1800 3.80% 4.02 402| -795 -79.5| 832.2 46.2% 8 8 hE 63
36| FEFE |sEoL 683 8| 36 683 8 1000| 683%| 854| 854] -139| -139| 8310 8315 o o F5H #—| 65|
37| EEARIR |[sEoL 67.6 18 37 67.6 18 1000 6.76% 3.76 3.76| —146 -14.6] 8225 82.2% 0 0 A #R5h | 66
B|FEE [sEOL 66.3 6 38| 66.3 6 900| 7.37%| 11.05| 11.05| ~-7.7 —7.7] 806.7] 8964 o] o FB XM| 63
39|k H |gEoL 65.0 20 39 65.0 20 1440 4.51% 3.25 3.25| -534 -53.4| 790.8 54.9% 7 7] 180/ kKA BE| 24
* 20 SBEFH M V| Teans st 60.6 16 40 60.6 16 500] 12.12% 3.79 3.79 195 19.5| 737.3| 147.5% 0 0 BEHMTF| T1
4= E |sEOL 575 8 41 575 8 700 8.21% 7.19 719 0.0 0.0 699.6 99.9% 0 0 ZE § 64
®|K BEV|Fz 530] 11 42 53.0 11 600 8.83% 4.82 4.82 3.7 3.7] 644.8| 107.5% 0 0 XIE #hi| 73
20 11 |gEoL 530] 11 42 53.0 11 650 8.15% 4.82 4.82 -04 -0.4] 64438 99.2% 0 0 wil H#E [ 71)
44| T ZEOL 404| 13 44 404 13 500 8.08% 3.11 3.11 -0.7 -0.7] 4915 98.3%| 13| 13| 200[F % 71
s EV|ES 39.4 5 45 39.4 5 700 5.63% 7.88 788 -18.1 -18.1| 479.4 68.5% 0 0 R BE | 67
46| I 78 V| Teani 8 300 9| 4 390 9 600 6504 433 433 -103| -103| 4745 791s| 8| 8| a4soliE3t meER| 74
4|F BV|xs 29.0 5 47 29.0 5 1200 2.42% 5.80 5.80| -69.6 -69.6/ 352.8 29.4% 5 5 e BR| T
4| /INEEV|EeRke 280 6| g 280 6 400 7004 467| 467] 49| -49| 3407| 525 of o INEEEE) 54
2% RBV|v=— 25.6 3 49 25.6 3 500 5.12%| 853 853 -155| -155| 311.5| 6234 6| 6| 50|%[E f@F| 63
s['f E [gEoL 23.0 7 50 23.0 7 200] 11.50% 3.29 3.29 6.6 6.6] 279.8] 139.9% 0 0 RE $h 79
5113)LY |#EoL 220 2 51 220 2 240 9.17%) 11.00] 11.00 23 23| 267.7| 111.5% 24| 24| 240|3)LY V. 60
51 2% |smoL 220 2 51 220 2 700 3.14%| 11.00/ 11.00f -355 -35.5 267.7 38.2% 2 2 2% @A 51
53K BT [gEoL 21.6 3 53 21.6 3 500 4.32% 7.20 7.20f -19.5 -19.5] 2628 52.6% 9 9| 130| KHT E#E | 63
sl V=@ 13.1 2 54 13.1 2 1980 0.66% 6.55 6.55| —149.6] -149.6] 1594 8.0% 3 3 AR B 64
s5|%  EV|smEms 8.0 7 55 8.0 7 120 6.67%| 1.14] 1.14] -19 19| 973] siix| 2| 2| co|FE BR| 66
ZEOL 43 2 56 43 2 240 1.79% 2.15 2.15| -154 -15.4 52.3 21.8% 0 0 =8 B 93
51| S#HEV|LE 34 1 57 34 1 350 0.97% 3.40 3.40| -254 —254 414 11.8% 0 0 53 Eh| 66
ss|BFhat |#moL 00 o0 58 0.0 0 12| 000%| 000] 000/ -1.0 -1.0 0.0 oo 6] 6 Fep $7k | 67
sl 8RS |2EOL 00| 0| =8 0.0 0 500| 000%| 000[ 000| -41.1| -41.1 0.0 00%| o o| 50086k | 64|
58| FIEE |sEoL 0.0 0 58 0.0 0 1000 0.00% 0.00 0.00| -822 -82.2 0.0 0.0% 0 0 FlEEES| 62)
sg|EE B ZEOL 58 0.0 0 200 0.00% 0.00 0.00| -16.4 -16.4 0.0 0.0% 0 EH # 31
ss[ll A |[EoL 58 0.0 0 200 0.00% 0.00 0.00| -16.4 -16.4 0.0 0.0% 0 WA BA| 28
&t 7,254 860 7,254 860 92,052
Ty 1209 143 170 139 1,484.7 7.88%
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ToPF—4EH EH Jo— (BH ORI L Totrl+C., J20 £ TetrtVLET)
BHE~<YATHEBMNIZY—IET BEFRIVERLTTSIL, APR 30 /365days  8.22%
atsmt| km |B5tE%] doys| ] kn | @mmE ] % | AVEE | km | AVER | km |BEtEH]  km
1@ v 437.6|H #H# 30| H# 440012 BV 15.48%|KkK BV 35.35|k BV 35.35(F LUV 141. 71
2176 BV 383.5|# EV 30 it vV 4000|/E EFV  14.67%|#hKZE 18. 71[#5 K% 18. 71|l HV 71. 317
3l NIV 335. 0|8 KiE 30|/ EV 3J750|8nKIE 13.89%|f WV 15.63|78 WUV 15.63|71E EV 75. 28
4 EIRE 293.0|%€ EV 29|17 WUV 3600|F LUV 12.16%|#E JIIV 14.57|#% NIV 14.57|% BV 72.94
5l#y v 270.2|@ LUV 28| EIRE 3600;EHMNY 12 12%|(#y BV 13.51|# BV 13.51|182 BV 72. 61
6[gpKRZE 262.0| E3RE 28| NIV 3500|R E 11.50%[(f€ EV 13.22|7€ EV 13. 22| NIV 47.33
7iE EV 257.4|F EV 28[gFKE 3360[# BV 11.26%|EEZK 12. 15|ER&K 12. 1585 K1E 40. 82
gl ;# Vv 251 4|lLA— 27|f TV 3000|KR#EV . 10.86%|F% AV 12.05|F% AV 12.05|3fERV 37. 34
9|H H 251. 0|4 HV 26(F% AV 3000|fE EV  10.23%| ith V 11.97] # Vv 11.97|K BV 37.12
10[kK BV 242.6|HERV 2614 HV 2150|HERV 9.78%|#%k F 11.56|@% ¢ 11. 56| KfHEV 31.67
M|FE AV 2410 HV 26| K #BV 2500k BV 9. 70%|FBEE 11.05(FBE 11.05|8 HV 23. 85
1214 HV  236.6[8Ki#EV 25|18y BV 2400|%8 AV 9.60%3JILY 11.0013 LY 11. 00[[BEH IV 19. 50
13[FTARYV  234. 6|/h #AEEV 2|l5EBRV 2400|#% IV 9.57%| 25k 11. 00| 2 B9 {2 11. 00|/ # &V 19. 24
14[/NAERY  216.5|i% IV 23|/MAERY 2400|E2 HEV 9.54%[KX BV 10.55| K ¥V 10.55|§1 AV 13. 81
15| BV 176.0|K BV 23|1= #& 2040{3 )L 5 9. 17%| L3RS 10. 46| LIRS 10.46|%8 EV 10. 82
16(B8 AV 171. 8|/ HfEEV 22|AIE 2000(/\#xgR V 9.02%(2 BV 10.32|2 BV 10.32|#% HV 10. 57
17|HEFIE 169.9] # WV 211Kk BV 2000k EV 8.83%[B HV 10.11|82 @BV 10.11|R X 6.56
18|= #& 164. 4(# GV 201/ MV 1980|@ ¢ 8. 67%|AHIE 9.99|AFIE 9. 99| Eh AR I 6.05
19|12 BV 154.8|F%F AV 201 AV 1800|#% HV 8.60%= %7 9.99[= % 9.99|APIE 5.52
0|8 KMV 154.0|1= #& 20185 KHEY 1800|F8 EV 8. 58%[/NFEV 9. 20/NHFEV 9.20|8 5.37
211Kk BV 1414k H 201# EV 1800\ AV 8.57%|fE EV 9. 19[fF FEV 9.19| X EV 3. 68
22|18y EV 139 0|85 KR 18| ERIEK 1800|#5 KV 8.56% |8 HV 9.10|1%% HV 9.10| AV 3.13
B|ERK 133.6|® HEV 17[/NAEYV  1800|HPIE 8. 50%|FTHRAV 9.02(FARV 9.02{3 LY 2.217
4| R#¥HEV 130.3|AHIE 17| BV 1800[ILE— 8. 2%/ kg vV 9. 02/ kg V 9. 02{ILA— 0.57
25|/ AV 118. 0| K#FHEV 17| @BV 1500|= = 8. 21%| FEiE 8.54|F 5t 8.54|= = -0.03
26|@k 104.0|7 BV 17[/NEFEV 1500|# U 8.15%|% B’V 8.653|% RV 8.53|# i -0.42
211 &V 100.9|R &EV 16|k H 1440 L3R E 814%™ H# 8.37|MH H# 8.37 *F -0.70
28[#5KIE 100. O&HMAMAV 16{[® FVv 12001 F 8.08%|= #x 8.22|1= % 8.22| % hiF -0.99
29| ILH— 99.2(2 BV 15| R¥HEV 1200|= & 8.06%|#1 BV 8.00(#f BV 8.0/ EV -1.86
0/ BV 96.0[#5 K% 14|k F 1200|F% AV 8. 03%[f}F ®V 1.88|F ®EV 7.88| EiRE -2.89
[NHFEV 92.0(fF AV 13| IUEA— 1200|853 K% 7.80%| K¥HEV 1. 66| KFHEV 7.66|1= #x -3.217
32| ARV 77.11 F 135 3 1200(# BV 7.72%| Kk HT 7.20( Kk Hr 7.20|/hEEEV -4. 88
33z H 711.0|48 &V 121 BV 1200[8&% T.42%= = 71.19|= = 7.19|% AV -5.58
M= FH 69. 9| E R 1112 BV 1000|FEE 1.37%3% 7.10|% H 7.10|F 5% -7.67
35|h BV 68. 4| K EV 118 &V 1000|KXK BV 7.07% " BV 6.77|[8 EHV 6. 77|11 EV -8.95
36| FEik 68. 3|% 1L M= % 1000|/hEEE V 7.00% EV 6.55|1f8 EV 6.55BH RV -10. 32
7[5 K 67.6|/NBFEBEV 10|F5E 1000|= %¥ 6.99% A BV 6.31|" BV 6.31|1= % -12.29
B[FEE 66.3|5% H 10|85 K8 1000|F 57 6. 83%|ER ARV 6. 16| S KV 6. 16| 8% -13. 89
9k H 65.0| F 9|FiEB 1000|#5 KR8 6. 76%|M AV 5.93[ AV 5. 93| KE -14.16
40BHMV 60.6;EHRYV 9@ AV 900/l @&V 6. 713%|F BV 5.80[FF BV 5. 80| BRI -14. 35
M= = 57.5|F 8L 8|FEBE 00| EV 6. 67%|/NAEEV 5.36[/\ikEEV 5. 368 KR -14.59
21K gV 53.0|= = 8|#HKIE 120/ iR EEV 6.56%| K &V 4.82(K BV 4. 82[EBE -15. 43
4318 1l 53.0[= % 1= = T00/BEHREV 6.50%|# 1l 4.82(# 4.82(% BV -15. 50
44 40.4|1R £ TE EV 700 ith Vv 6. 29%|/NEEV 4. 67[/NEEEV 46718 %7 -16. 44
15[ ®EV 30.4[58 BV 1254 100[/NEFEV 6. 13%|¥ EV 4.63[# EV 4.63|14 & -16. 44
A6[BH RV 39.0[FBE 6{# 1L 650 H 5. 2%EHRYV 4. B3[BEHEV 4. 3B|F EV -18.13
47[F BV 29.0[/NEEEV 6|k EV 600/ H 5.70% |4 HV 4.02|% EHV 4.02| X H1 -19. 50
48|/ EV 28.0|f# ®V SiEHREYV  600[F EV 5. 63%JEH MV 3. BEHMIV 3.9\ &V -22.39
NE FEV 25.6[FF BV S5iEHMNAV  500(% RV 5. 12%|$8 KR 3. 76| 8 AR 4R 3.76| KX BV -22.98
50|R E 23.0(K BV 4] F 500({%x H 4. 51% | IUEH— 3.67|ILEH— 3.61|SHIEV -25. 37
5113 1LY 22.0(% BV 3% BV 500\ K HT 4. 3% SHIEV 3. A0[SHIEV 34015 H -217.63
52|25 22.0|x Hr 3| K Hr 500( BV 3. 80%|FRAKIE 3. 33[#5KIE 3. 33|/ EV -29.95
53[K Hr 21.6|3)LY [ KiE 5002 g 14%|R E 3.29|R £ 3. 29|NHFEV -31.29
54|18 MV 13. 1|2 FE 21INEEEY 400 F BV 2.42%\ &k H 3.26|k H 3. 25| EFHE -35. 53
5|8 EV 8.0/ MV Q09 HEV  B0|ESEE 1.79% F 3.11] F 3. 118K 1E -41.10
56[SBE 4. 3|SEBE 213 L9 0[S HIEV 0.97% | SBE 2. 15|55 2.15|%x H -53. 36
51| S HIEV L ASHEV 1|5EBE 20| WV 0.66%5 EV 1.14|8 EV 1.14|FF BV -69. 63
58| rhaz B ehi7 B OE 00| FES FES o v -77.37
59|88 kiE TN E B 200(&kiE FrE N TN h BV -79.55
60|42 FES M E E B E 5 FES -82.19
61| & E 5 = BV 120k & W& TS B 3 -110.64
62\l & T bz 12|%5eh17 Behi7 B o7 B Y -149.64
63
64
65
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